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MAIR. [5F]

Genie : Minji, what do you want to have?
Minji : Iwant to have a magic pen.

Genie : Why do you need it?

Minji : I hope it can solve any test questions.

Q) What does Minji want to have?
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Minji, what do you want to have?

.l want to have a magic pen.

Why do you need it?

. I hope it can solve any test questions.

Q) What does Minji want to have?
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Now we are almost at the end of my talk.
| really don’t know @ whether *politicians want to change the bad rules about the environment
or not. However, to save our earth, we must start from a small thing. For example, plastics should
not ® use.

We need hope. Of course we do. But the one thing we need more than hope is action. If we start
to act, hope is everywhere. So, instead of ©looking for hope, look for action. Only then, hope will
come. we must @ start today, right now! Thank you!

*politician: MX|2! *plastic: 22tAE *action: s
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Now we are almost at the end of my talk.

I really don’t know @& whether *politicians want to change the bad
rules about the environment or not. However, to save our earth, we
must start from a small thing. For example, plastics should not ®

We need hope. Of course we do. But the one thing we need more
than hope is action. If we start to act, hope is everywhere. So, instead
of ©looking for hope, look for action. Only then, hope will come. we
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Now we are almost at the end of my talk.

I really don’t know whether *politicians want to change the bad rules about the environment
or not. However, to save our earth, we must start from a small thing. For example, (A) (plastics,
should, use)

We need hope. Of course we do. But the one thing we need more than hope is action. If we start
to act, hope is everywhere. So, instead of looking for hope, look for action. Only then, hope will
come. we must start today, right now! Thank youl!

*politician: FX|Q! *plastic: E2AE *action: =
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1. What does Thunberg ask us to do? (& &l L2
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2. So, what will you try to do?
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Plastics should not be used.

(E&) Plastics should be used less.

(E&) Plastics should be less used.

(E£) Less plastics should be used.

Thunberg asks us to start to act

(instead of looking for hope). So,
I will try to recycle plastic bottles

properly.
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The most common factor that triggers a collapse

about a collapse.

a street or in housing areas.

example, during long periods of drought, underground water levels will fall. When this happens,
the space that was once supported by the water may become weaker and collapse. Another
trigger is a rapid increase in surface water. A sudden heavy rain can add dramatically to the
weight of the surface soil, making it too heavy for the space beneath to bear. This, too, can bring

Sometimes the trigger can be man-made. Most sinkholes we are seeing these days are indirectly
related to human activities, such as drilling, mining, or construction. They may also occur because
of broken water pipes, heavy traffic, and the excessive use of groundwater. Collapses from these
man-made causes can have especially dramatic effects because they often occur in the middle of

is a change in underground water levels. For

(x7)
(A): BIZ10] HESBH= LIRS S201A S0P 252 2 21,
(B): SAIRES BIEA| 28BS .
=20 Ol TIOISS 285101 HIZI0| S01Z US MS 2.
Ol Q27+ ot 20| HIEE, TRA| H0{] HEIS HITO| SGHES B 1,

Why Sinkholes Open up

What are the main factors that cause a sinkhole?

How do they bring about a sinkhole?

Lowered underground water level (A)

because of severe drought (4],
Natural
Causes Rapidly increased surface water (B) As (6ZH0f LHR)) [5

level due to a sudden heavy rain H], the space beneath the surface soil

couldn’t bear and collapses.

Human activities such as drilling, It indirectly triggers a sinkhole in the
Man-made mining, construction, broken middle of street or a housing areas.
causes water pipes, heavy traffic, or

excessive use of groundwater
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The most common factor that triggers a collapse is a change in
underground water levels. For example, during long periods of drought,
underground water levels will fall. When this happens, the space that
was once supported by the water may become weaker and collapse.

Another trigger is a rapid increase in surface water. A sudden heavy

rain can add dramatically to the weight of the surface soil, making it
too heavy for the space beneath to bear. This, too, can bring about a
collapse.

~e Sometimes the trigger can be man-made. Most sinkholes we are seeing

these days are indirectly related to human activities, such as drilling,
mining, or construction. They may also occur because of broken water
pipes, heavy traffic, and the excessive use of groundwater. Collapses
from these man-made causes can have especially dramatic effects

because they often occur in the middle of a street or in housing areas.
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Why Sinkholes Open up

What are the main factors that How do they bring about a
cause a sinkhole? — Cause sinkhole? — Effect
Lowered underground (A)
water level because of
severe drought [43].
Natural L
Causes Rapidly increased surface (B) As (60 LY2)

water level due to a

o [5A], the space beneath the

sudden heavy rain

surface soil couldn’t bear and
collapses.
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' Human activities such as

Man- drilling, mining, construction,
made  broken water pipes, heavy

traffic, or excessive use of
causes

groundwater

It indirectly triggers a sinkhole in
the middle of street or a housing
areas.
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The most common factor that triggers a collapse is a change in underground water levels. For
example, during long periods of drought, underground water levels will fall. When this happens,
the space that was once supported by the water may become weaker and collapse. Another
trigger is a rapid increase in surface water. A sudden heavy rain can add dramatically to the
weight of the surface soil, making it too heavy for the space beneath to bear. This, too, can bring
about a collapse.

Sometimes the trigger can be man-made. Most sinkholes we are seeing these days are indirectly
related to human activities, such as drilling, mining, or construction. They may also occur because
of broken water pipes, heavy traffic, and the excessive use of groundwater. Collapses from these
man-made causes can have especially dramatic effects because they often occur in the middle of

a street or in housing areas.

Why Sinkholes Open up

Causes Effects
Lowered underground water level (A)
because of severe drought
Natural
Causes
(B
The space beneath the surface soil couldn’t
bear and collapse.
due to
Human activities such as drilling, (C) Collapses have dramatic effects since
’\mAZS; mining, construction, broken water
causes pipes, heavy traffic, or excessive use
of groundwater

wtE MEY 28 AR | 69



2te W8S 257 Z8510] 2+dg

Klot=0f sl X S2H0] ofeiMAl FLTICE

The space that was B pesl] ‘Xlot=0ff oo XYEH S740] O AsiXICt =2
once supported ESESES Klot=01| 2Jo XIE=H S740] FUTICE & Sttt R,
A by the water ma _ . _ -
W by . / Kot ZAZ Ola) A2E0| OfZH LMSH=X|2t
ecome weaker B} ] } B}
St LIS 2ot/ L &0t 22
and collapse.
104 =Y TR} HE5I 03] 3 oY B} GIS
A SN PE, 013 L oY QRIS
‘ERZ QIS X|EA0| (23 B7F 23 S &AM
2o KESQ (F48h &7F E= ‘B & ot =40
i ; o oty Rt SH
A rfapld mcreas;:* in M ol 23S
surface water due _ _ _
(B) ; dden h ‘KNEQ (FA3H B7F et 2ot Lgs MyE T,
0 a sudden heav _ _
. / TE40| (G243 57H'9} B 0| NS HT0| KA,
rain
210 TL20| F=tot 013 % oo 2F7t glE
ArE 013] L 01RO 2B UG
‘WIAZE0| BF Z SUIRLILE = X0 L4
STt 2t LIS 25 3lot0] 2t
&9 ‘NIES0] F 2 IO 0A Lyt =2
they often occur N ) _ i
. . ESESE WIEE0|FF T KON LASICE Z oLt EHSt
© in the middle of a
street or in housing QYA QPICE HIE0| 0187 UMot=X|2t Fast
areas. e '

b rio

o

ol

s SoliAf st
QHOf M HEFOIR| Y2 YE, ©
SO =2 HOI=2
UFUC HEo| Z8E EX
AGIISEED

o
Sotil FIK5tAt 5t AE M= E7te a7t gltt= A

ot 2E) Gt 2 K20 LRet

]
U4
ol
uo rr

e QX o MAIE 280] HASHL
[oH




N

S
NN
W
SONNA

P T T
T ETTETEEY TN
LR TN
FEE R R RS
T Y
FERE R R R R E
FEEEE R R R AR
FEFEE R E R R
R Ty
CEEEE R R R R R R R
EE T
FEE R R R
CHEE R R
CEEEEEE

r+ ¥+ FEFFEr .
PR R B K K K B K N NN
R L R LR N RN KN BN
*¥+**+*++F+F+FEFEF+FF
R K R R N K K R NN N
R R R B R LR NNENNERSJJ )
LR R R R R B R NEEENJ .
L R N K K R L ENKERNRENJ
LR R R R B B N KN BNLNEREJR.
AL R A L B N L BN KRR NN,
LR N K N R
AL R R R R N N N B X N N4
AL R R R L RN BN N
*+FFFEFEF

PN
CRRRRRRA
YRR
LR RRRRRRRA
R RRXRXRRRRRA
RRXRRRARRRRA
YRR RRRRRARA
G
2R XL

’,
»,
D



goue 50l

1. 282 M0 KIAL TISS SAIBH0] KA SIS TP 0

2. ST S BIIRAKIAL 7157 401 AIZH0 Stsat LHRI7P? 0

3. SHB1IA} SHe KIAI0] 20| HAIEI0] QLe7P? 0

S 4 SHSIR BH= 7150] REEPH SRS HISKIAOE ARRSIGET 0

i’: 5. IOt AINS OHBH E7H'S BIRAS SIIKOR AREl0] YUTP 0

B 6 R AAE 29, T ARE ASE WR0/0 SaI AjF B20] ATk 0

7. B71940| EQT oL HIO0EE TR50! KHA 0| SO{Ei=Th 0

8 WSS SISO O[3HE 4 Sl 1012 HEBHH MAIEISL=TF 0

9. Ol 8 AlZ L0l SHYS0] S 55| EHEAE & 9l 28tk 0

: 10, OIAIEIOIS BIIQAS BE TBISHeTP 0

’f; 11, OfF HHOIE HAS 208 4 9l 7|Z0] U=Ih 0

£ 12 58 EA HO WA HHEIR 0

A0IEH K25t HEZ X|A|0f

HOIBIAIL. TOIBHALL. SN2, Zo5IA2
FOA|Q. SE25IA| 2. HIESIAI2 Ol=otA 2
SARBIALD. S, BRAKIOAL. =3B
HEEIAL HZBIALS. SIS, BBt
7|2 HEBIALS. SRV SABALL
Q015142 E25U12. HQISHAIS. LA
HAAGIA| 2 QEGIN L. H|TSIA| 2. CEA] MA|Q.
SHAIBIALD £55U12. BN, =52

72| M-=5



- Anderson, Lorin W., and David R. Krathwoh, 2001, New York: Addison Wesley Longman, Inc.
A Taxonomy for Learning, Teaching, and Assessing: A Revision of Bloom's Taxonomy of
Educational Objectives.

- Robert ). Sternberg, Karin Sternberg, 2012, Wadworth Cengage Learning
Cognitive Psychology (6th edition)

- Ed. Bransford, John D. et. al., 2000, National Academies Press
How People Learn: Brain, Mind, Experience, and School

- Susan M. Brookhart, 2014, ASCD
How to Design Questions and Tasks

R2=|73



20224 24

E

=LY

0

SEHEUEH

51430 ZAILE AHIA| A

cood

—

F

T EYUUZ 241

(55) E471=R124 T.055)237-1577





